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Suppose a representative firm in a perfectly competitive, constant-cost industry has
a cost function

TC =4g% +100g +100
\)0 )V‘\' (a) What is the long-run equilibrium price for this industry?
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Z  (b)If market demand is given by Q°=1000-P, where P denotes price, how many
15
0 firms will operate in this long-run equilibrium? Illustrate graphically.
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(c) Suppose the government imposes a tax of 8 euros per unit of output. What would
O(’,}S be the new long-run equilibrium price for the industry? Illustrate graphically.
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(d) Who are the winners and the losers following the imposition of the tax in (c)?
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Consider a firm which has the following cost function:

TC:=5004-20q
The market demand function is given by 0% =100 - 2P

Y
/l \0'9' (a)Show, formally, that this firm is a natural monopolist.
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(b)What is the equilibrium price, quantity produced and the profits for this
monopolist? Illustrate graphically. Is the market efficient?

4 g Hint: To calculate profits subtract costs from revenues.
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Suppose now that the market is regulated and the price is set by the regulator.

(c)If the price is set at average cost, what is the monopolist’s profit? Is the market

efficient? Illustrate graphically.

¢
v= py— T¢
_ _ Cs e
= Py~ gT
- /«)udc»(/’f*{' A?CC{
D

=5 —

4

/I’La fuwlef a3 et
g//f"u‘m% e e
FN\Q{ A2 ozéove
/Vwmg.vw(ﬁ Gusk-

(d)If the price is set at marginal cost, what is the price, quantity and the
monopolist’s profit?
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Additionally, assume that there are 10 consumers with identical individual demands.

(e)Consider a two-part pricing. Each consumer must pay a fixed fee regardless of
5/ consumption level plus a price per unit. If the price per unit is set equal to marginal
/I/ cost, what is the largest fee that a consumer would pay for the right to buy at that
price?
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(DIn this case, can the firm break-even? Is the market efficient?
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1. Maria spends 6€ per week on orange juice and apple juice. Orange juice costs 2€ per

cup while apple juice costs 1€ per cup. Maria views 1 cup of orange as a perfect
substitute for 3 cups of apple juice.

Q\P (a) Write down a utility function that represents Maria’s preferences.

95 €
Vv =30 +8

(b) Find Maria’s optimal consumption bundle of orange juice and apple juice each
week. What is the level of utility at the optimum? Illustrate graphically.
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(c) Suppose the price of apple juice rises to 2€ per cup, while the price of orange
/l Juice remains the same. How much additional income would Maria need to
afford the original consumption bundle?
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2. José has the same income and faces the same prices as Maria in (a), but he views 1
cup of orange juice as a perfect substitute for 1 cup of apple juice.

O[ 2/§ (a) Write down a utility function that represents José’s preferences.

= A+

(b) Find José’s optimal consumption bundle. What is the level of utility at the optimum?
[Mustrate graphically.
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(d) How much additional income would José need to be able to afford his original
/\ consumption bundle when the price of apple juice doubles?
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3.Teresa has the income and faces the same prices as Maria and José, but views one 1
cup of orange juice and one cup of apple juice as perfect complements.

iV }’ (a) Write down a utility function that represents José’s preferences.
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(b) Find Teresa’ s optimal consumption bundle. What is the level of utility at the
/Iu optimum? Illustrate graphically.
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(¢) How much additional income would Teresa need to afford her original
consumption bundle when the price of apple juice doubles?
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If you have ever gone grocery shopping on a weekday afternoon, you have probably
noticed some elderly shoppers going slowly down the aisles checking their coupon
book for a coupon that matches each of their purchases. How is this behaviour
explained by the hurdle model of (second-degree) price discrimination?
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